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1. Munwujuiwnnt unnpupuduiniub ynnuhg quiwt hupnny Ukpluwjugjus huwpuynp

dwutwygh nfjujutpp
,ELEUSPhY,, Uu U/2 dwpnnthh UYpngwt
p Upunwpwn Ognuwnuh 23/103 << Upwpwinh dwq Pnipuunwl
,, Cwybynundpwuly,,Upinwpwinh U/6 ,,Upnzhtpwty ,,Upnwwwnd/b
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2. Ukjwldhg qiiwh phipuguywupgh swlnignudp myuplknt opp ' 19.03..2024p
3. Uwutwlgh Ynnuhg hwpnp ibplujuglint opp ' 21..03.2024p

4. Uwbwygh ynnuhg wrwmgupljws gikpp

22 huq punt
Qunhw- Updtipp (htplwpdtph b
pudhlibbph Uwubwlgh wiwhmup ‘1“‘“1}‘1‘&;“‘1“‘1“3[1211“““)“11’1‘ uoz” Cnhutmp ghtp
hunfupikpp puignufurpp
, ELsuSrhy,, Uy
2 ., ELEUSrhy,, Uy 4,90 4.90
3 ,ELEUSPhU,, UY 20 20
= i LELGUSPhy,, LU 050 050
B ., ELBUSP,bhy,, U4 1.50 1.50
P ELGUSPhY,, Uy 1.0 1.0
7 LELGUSPhu,, U4 20 20
8. ,,ELGUSPhY,, Ul 0.80 0.80
N L ELGUSPhU,, Uy 16.0 160
10. ,ELGUSPhu,, U4 20 20
11 ,ELBUS,bhy,, Wy 3.20 7 3.20
o LELGUSPhY,, UY 7.0 7.0




13. ,ELBUSPhY,, Uu 1.0 1.0
14, ,ELEUSPrhY,, U4 15 5 15
15. ,ELEUSPhY,, Uu 0.30) K 0.30)
16. ,ELEUSPhY,, Uu 1.250 =) 1.250
17. ,»ELBUSPhY,, Uu 150 3 1.50
18. ,ELEUSPhY,, Uy 0.70 ) 0.70
19. o ™ = ol
20 ,ELEUSMhY,, UU 0.750 B 0.750
21 ,ELEUSPhY,, Uu 2.0 - 2.0
22 uwa dwpnnthh UYpuingut 910 = 910
23, U2 dwpnnihh UYpungut 3.30 = 330
24 U/2 dwpnnthh Uypngwu 4.80 — 4.80
25, U/Q dwpnnihh UYpungut 7 80 = 7 80
2. U/ dwpnnihh Uypngw 910 L 910
27 UW/Q dwpnnthh UYpngwt 50 o 50
28. U2 dwpnnihh Uypungut 2.0 - 2.0
29. W2 dwpnnihh Uypungui 5.60 8 5.60
30. U/Q dwpnnthh Uhpngwt 8.40 ~ 8.40
31, UW/Q dwpnnthh UYpngwt 2.0 ) 2.0
32. U/2 dwpnnthh Ulpungyub 12.60 . 12.60
33, U/Q dwpnnthh Uypingut 30.0 ) 30.0
34 UWQ dwpnnthh UYpngwt 220 == 220
35 U/Q dwpnnthh UYpungwt 1.40 - 1.40
36, U/ dwpnnthh UlYpungut 130 - 130
37, U/Q dwpnnthh UYpungut 20 = 20
38, U/Q dwpnnthh Uypngwt 26.6 _ 2.6
39. U/Q dwpnnthh UYpngwt 10.0 _ 10.0
40, U2 dwpnnthh UYpngut 10 _ 10
4. U/Q dwpnnthh UYpungut 210 ~ 210
42 U/Q dwpnnthh UYpungw 8.0 . 8.0
43, U/2 dwpnnihh Ulpingut 280 ~ 280
44 W2 dwpnnihh Uhpngwt 40 _ 4.0




15 U/ dwpnnihh UYpungwt 3.60 -- 3.60
i U/Q dwppnthh Upungub 10.0 5 10.0
47 U2 dwpnnihh Uypungwi 1.0 = 11.0

5. Munwupmbmnn unnpupwdwinfwh Ynnuhg plgminfus npnonudkpp

5.1. Apnonud /phyl/ Munwuimbunnnt unnpupwdwinfwh nEjujwpp npnokg JELBUSChy,, Uu-h b U/
Jdwpnnthh Uypungwt —h Ynnuhg bbkpjuymgfus huyuntpp quuwhwink] pujwpup;

5.2. Npnonud /phy 2/ ,ELEYSCPRY,, U4 -hu Swbwgh) N1-18. N 20-21 swthwpudhttpny puwnpjus
Uwutalhg, hulj U/2 dwpanihh Uhpngwi-ht N22-47 swthwpwdhitbpny plnpyws dwubwlhg npyku
phpwgulyupgh wuylwhtkpht hudwywnwupwb hwjnbtp b Wuqugny quuyghtt wnwgwplutp
ubpYuyugnus dwutwhgkph b yEpghttphu htwn Jupt yuydwbwghp;;

5.3. Qpnonud /phy3/ Munwujuwbwnnt unnpupwdwinup npngkg hwunwink] plnpyus twutwlhgutph

hbwn wwjlwiwghp Yupkint npnpuwh twuhl hujnwpupnipjub wkpuwnp;
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